*** QOC scores **********************************************************
*** Respondent median substituted for missing data; then scale score computed as mean of component items.

*** PATIENTS ***

missing values WORDS, EYE, QUES, LISTEN, CARE, ATTENT,

                        FEEL,
DETAILs, HowLONG,
DIELIKE,
PATDM,
LIFE,
ASKSPIR
().

COMPUTE MissQOCGen=0. 

EXECUTE. 

IF  (WORDS >= 555 and words ~= 888) MissQOCGen=MissQOCGen + 1. 

EXECUTE. 

IF  (EYE>= 555 and EYE ~= 888) MissQOCGen=MissQOCGen + 1. 

EXECUTE. 

IF  (QUES>= 555 and QUES ~= 888) MissQOCGen=MissQOCGen + 1. 

EXECUTE. 

IF  (LISTEN>= 555 and LISTEN ~= 888) MissQOCGen=MissQOCGen + 1. 

EXECUTE. 

IF  (CARE>= 555 and CARE ~= 888) MissQOCGen=MissQOCGen + 1. 

EXECUTE. 

IF  (ATTENT>= 555 and ATTENT ~= 888) MissQOCGen=MissQOCGen + 1. 

EXECUTE. 

COMPUTE MissQOCeol=0. 

EXECUTE. 

IF  (FEEL >= 555 and FEEL ~= 888) MissQOCeol=MissQOCeol + 1. 

EXECUTE. 

IF  (DETAILs>= 555 and DETAILs ~= 888) MissQOCeol=MissQOCeol + 1. 

EXECUTE. 

IF  (HowLONG>= 555 and HowLONG ~= 888) MissQOCeol=MissQOCeol + 1. 

EXECUTE. 

IF  (DIELIKE>= 555 and DIELIKE ~= 888) MissQOCeol=MissQOCeol + 1. 

EXECUTE. 

IF  (PATDM>= 555 and PATDM ~= 888) MissQOCeol=MissQOCeol + 1. 

EXECUTE. 

IF  (LIFE>= 555 and LIFE ~= 888) MissQOCeol=MissQOCeol + 1. 

EXECUTE.

IF  (ASKSPIR>= 555 and ASKSPIR ~= 888) MissQOCeol=MissQOCeol + 1. 

EXECUTE.

FREQUENCIES VARIABLES=MissQOCGen MissQOCeol 

  /ORDER=ANALYSIS.

missing values WORDS, EYE, QUES, LISTEN, CARE, ATTENT, 

                        FEEL, DETAILs, HowLONG, DIELIKE, PATDM, LIFE, ASKSPIR (555 thru 999).

COMPUTE QOCGenMedian=Median(WORDS, EYE, QUES, LISTEN, CARE, ATTENT). 

COMPUTE QOCeolMedian=Median(FEEL,
DETAILs, HowLONG,
DIELIKE,
PATDM,
LIFE,
ASKSPIR). 

formats QOCGenMedian QOCeolMedian (f10.5).

EXECUTE.

missing values WORDS, EYE, QUES, LISTEN, CARE, ATTENT,

                        FEEL,
DETAILs, HowLONG,
DIELIKE,
PATDM,
LIFE,
ASKSPIR
().

compute WORDSr = WORDS.

compute EYEr = EYE.

compute QUESr = QUES.

compute LISTENr = LISTEN.

compute CAREr = CARE.

compute ATTENTr = ATTENT.

if (WORDSr >= 555 and WORDSr ~= 888) WORDSr = QOCGenMedian.

if (EYEr >= 555 and EYEr ~= 888) EYEr = QOCGenMedian.

if (QUESr >= 555 and QUESr ~= 888) QUESr = QOCGenMedian.

if (LISTENr >= 555 and LISTENr ~= 888) LISTENr = QOCGenMedian.

if (CAREr >= 555 and CAREr ~= 888) CAREr = QOCGenMedian.

if (ATTENTr >= 555 and ATTENTr ~= 888) ATTENTr = QOCGenMedian.

execute.

recode WORDSr, EYEr, QUESr, LISTENr, CAREr, ATTENTr (sysmis = 999)(888=0).

missing values WORDS, EYE, QUES, LISTEN, CARE, ATTENT (555 thru 999) /

  WORDSr, EYEr, QUESr, LISTENr, CAREr, ATTENTr (999).

formats WORDSr, EYEr, QUESr, LISTENr, CAREr, ATTENTr (f10.5).

compute FEELr = FEEL.

compute DETAILsr = DETAILs.

compute HowLONGr = HowLONG.

compute DIELIKEr = DIELIKE.

compute PATDMr = PATDM.

compute LIFEr = LIFE.

compute ASKSPIRr = ASKSPIR.

if (FEELr >= 555 and FEELr ~= 888) FEELr = QOCeolMedian.

if (DETAILsr >= 555 and DETAILsr ~= 888) DETAILsr = QOCeolMedian.

if (HowLONGr >= 555 and HowLONGr ~= 888) HowLONGr = QOCeolMedian.

if (DIELIKEr >= 555 and DIELIKEr ~= 888) DIELIKEr = QOCeolMedian.

if (PATDMr >= 555 and PATDMr ~= 888) PATDMr = QOCeolMedian.

if (LIFEr >= 555 and LIFEr ~= 888) LIFEr = QOCeolMedian.

if (ASKSPIRr >= 555 and ASKSPIRr ~= 888) ASKSPIRr = QOCeolMedian.

execute.

recode FEELr, DETAILsr, HowLONGr, DIELIKEr, PATDMr, LIFEr, ASKSPIRr  (sysmis = 999)(888=0).

missing values FEEL, DETAILs, HowLONG, DIELIKE, PATDM, LIFE, ASKSPIR (555 thru 999) /

  FEELr, DETAILsr, HowLONGr, DIELIKEr, PATDMr, LIFEr, ASKSPIRr (999).

formats FEELr, DETAILsr, HowLONGr, DIELIKEr, PATDMr, LIFEr, ASKSPIRr (f10.5).

VARIABLE LABELS 


    WordsR  "QOC  MD using words patient understands, with 777,999 = respondent median for valid items and then 888 = 0"




/EyeR

"QOC   MD looking patient in eye, with 777,999 = respondent median for valid items and then 888 = 0"




/QuesR

  "QOC  MD answering all questions about illness, tx, with 777,999 = respondent median for valid items and then 888 = 0"




/ListenR
"QOC  MD listening, with 777,999 = respondent median for valid items and then 888 = 0"




/CareR

"QOC MD caring about patient as a person, with 777,999 = respondent median for valid items and then 888 = 0"




/AttentR
"QOC  MD giving full attention, with 777,999 = respondent median for valid items and then 888 = 0" 




/FeelR

" QOC MD talking about feelings about getting sicker, with 777,999 = respondent median for valid items and then 888 = 0"




/DetailsR    "QOC MD  talking about details about getting sicker, with 777,999 = respondent median for valid items and then 888 = 0"




/HowLongR

"QOC MD talking about length of life, with 777,999 = respondent median for valid items and then 888 = 0"




/DielikeR
"QOC MD talking about what dying might be like, with 777,999 = respondent median for valid items and then 888 = 0"




/PatDMR
"QOC MD involving patient in tx disucssions if too sick, with 777,999 = respondent median for valid items and then 888 = 0"




/LifeR

"QOC MD asking about important things in life, with 777,999 = respondent median for valid items and then 888 = 0"




/AskSpirR
"QOC MD asking about spiritual, religious beliefs, with 777,999 = respondent median for valid items and then 888 = 0".

VALUE labels   wordsR to AskSpirR 0 'not done or poorest possible rating'   10' best possible'.

COMPUTE QOCgen = mean.1 (wordsR, eyeR, quesR, listenR, careR, attentR).

COMPUTE  QOCeol = mean.1 (feelR, detailsR, howlongR, DielikeR, PatDMR, LifeR, AskspirR).

Recode QOCgen QOCeol (sysmis = 999).

missing values QOCgen, QOCeol (999).

Variable labels  QOCgen 'QOC score, general communication' / QOCeol 'QOC score, specific eol communication'.

VALUE labels  QOCgen QOCeol  0 'very worst'  10' very best' 999 'not enough information to compute'.

formats QOCeol QOCgen (f10.5).

missing values wordsR, eyeR, quesR, listenR, careR, attentR, qocgen ().

execute.

if sysmis(QOCgenMedian) and QOCgen = 0 and (wordsR ~=0 or eyeR ~=0 or quesR ~=0 or listenR ~=0 or careR ~=0 or attentR ~=0) QOCgen=999.

execute.

missing values wordsR, eyeR, quesR, listenR, careR, attentR, qocgen (999).

missing values FEELr, DETAILsr, HowLONGr, DielikeR, PATDMr, LIFEr, ASKSPIRr, qoceol ().

execute.

if sysmis(QOCeolMedian) and QOCeol = 0 and (FEELr ~=0 or DETAILsr ~=0 or HowLONGr ~=0 or DielikeR ~=0 or PATDMr ~=0 or LIFEr ~=0 or ASKSPIRr ~=0) QOCeol=999.

execute.

missing values FEELr, DETAILsr, HowLONGr, DielikeR, PATDMr, LIFEr, ASKSPIRr, qoceol (999).

execute.

*list variables = QOCgen wordsR, eyeR, quesR, listenR, careR, attentR /cases = 20.

*list variables = QOCeol  feelR, detailsR, howlongR, DielikeR, PatDMR, LifeR, AskspirR/cases = 20.

*frequencies variables = WordsR eyeR quesR listenR careR attentR QOCgen  

                       FeelR DetailsR HowLongR DielikeR PatDMR lifeR AskspirR QOCeol

                       /statistics = all.

*COMPUTE QOCgen2 = median.1 (wordsR, eyeR, quesR, listenR, careR, attentR).

*COMPUTE  QOCeol2 = median.1 (feelR, detailsR, howlongR, DielikeR, PatDMR, LifeR, AskspirR).

*Recode QOCgen2 QOCeol2 (sysmis = 999).

*missing values QOCgen2 QOCeol2 (999).

*Variable labels  QOCgen2 'QOC score, general communication--median of items' / QOCeol2 'QOC score, specific eol communication--median of items'.

*VALUE labels  QOCgen2 QOCeol2  0 'very worst'  10' very best' 999 'not enough information to compute'.

*formats QOCeol2 QOCgen2 (f10.5).

*frequencies variables = qocgen2 qoceol2.

************************************************************************
*** FAMILY ***

missing values WORDS, EYE, QUES, LISTEN, CARE, ATTENT,

                        FEEL,
DETAILs, HowLONG,
PATDM,
LIFE,
ASKSPIR
().

COMPUTE MissQOCGen=0. 

EXECUTE. 

IF  (WORDS >= 555 and words ~= 888) MissQOCGen=MissQOCGen + 1. 

EXECUTE. 

IF  (EYE>= 555 and EYE ~= 888) MissQOCGen=MissQOCGen + 1. 

EXECUTE. 

IF  (QUES>= 555 and QUES ~= 888) MissQOCGen=MissQOCGen + 1. 

EXECUTE. 

IF  (LISTEN>= 555 and LISTEN ~= 888) MissQOCGen=MissQOCGen + 1. 

EXECUTE. 

IF  (CARE>= 555 and CARE ~= 888) MissQOCGen=MissQOCGen + 1. 

EXECUTE. 

IF  (ATTENT>= 555 and ATTENT ~= 888) MissQOCGen=MissQOCGen + 1. 

EXECUTE. 

COMPUTE MissQOCeol=0. 

EXECUTE. 

IF  (FEEL >= 555 and FEEL ~= 888) MissQOCeol=MissQOCeol + 1. 

EXECUTE. 

IF  (DETAILs>= 555 and DETAILs ~= 888) MissQOCeol=MissQOCeol + 1. 

EXECUTE. 

IF  (HowLONG>= 555 and HowLONG ~= 888) MissQOCeol=MissQOCeol + 1. 

EXECUTE. 

IF  (PATDM>= 555 and PATDM ~= 888) MissQOCeol=MissQOCeol + 1. 

EXECUTE. 

IF  (LIFE>= 555 and LIFE ~= 888) MissQOCeol=MissQOCeol + 1. 

EXECUTE.

IF  (ASKSPIR>= 555 and ASKSPIR ~= 888) MissQOCeol=MissQOCeol + 1. 

EXECUTE.

FREQUENCIES VARIABLES=MissQOCGen MissQOCeol 

  /ORDER=ANALYSIS.

missing values WORDS, EYE, QUES, LISTEN, CARE, ATTENT, 

                        FEEL,
DETAILs, HowLONG,
PATDM,
LIFE,
ASKSPIR
(555 thru 999).

COMPUTE QOCGenMedian=Median(WORDS, EYE, QUES, LISTEN, CARE, ATTENT). 

COMPUTE QOCeolMedian=Median(FEEL,
DETAILs, HowLONG,
PATDM,
LIFE,
ASKSPIR). 

formats QOCGenMedian QOCeolMedian (f10.5).

EXECUTE.

missing values WORDS, EYE, QUES, LISTEN, CARE, ATTENT,

                        FEEL,
DETAILs, HowLONG,
PATDM,
LIFE,
ASKSPIR
().

compute WORDSr = WORDS.

compute EYEr = EYE.

compute QUESr = QUES.

compute LISTENr = LISTEN.

compute CAREr = CARE.

compute ATTENTr = ATTENT.

if (WORDSr >= 555 and WORDSr ~= 888) WORDSr = QOCGenMedian.

if (EYEr >= 555 and EYEr ~= 888) EYEr = QOCGenMedian.

if (QUESr >= 555 and QUESr ~= 888) QUESr = QOCGenMedian.

if (LISTENr >= 555 and LISTENr ~= 888) LISTENr = QOCGenMedian.

if (CAREr >= 555 and CAREr ~= 888) CAREr = QOCGenMedian.

if (ATTENTr >= 555 and ATTENTr ~= 888) ATTENTr = QOCGenMedian.

execute.

recode WORDSr, EYEr, QUESr, LISTENr, CAREr, ATTENTr (sysmis = 999)(888=0).

missing values WORDS, EYE, QUES, LISTEN, CARE, ATTENT (555 thru 999) /

  WORDSr, EYEr, QUESr, LISTENr, CAREr, ATTENTr (999).

formats WORDSr, EYEr, QUESr, LISTENr, CAREr, ATTENTr (f10.5).

compute FEELr = FEEL.

compute DETAILsr = DETAILs.

compute HowLONGr = HowLONG.

compute PATDMr = PATDM.

compute LIFEr = LIFE.

compute ASKSPIRr = ASKSPIR.

if (FEELr >= 555 and FEELr ~= 888) FEELr = QOCeolMedian.

if (DETAILsr >= 555 and DETAILsr ~= 888) DETAILsr = QOCeolMedian.

if (HowLONGr >= 555 and HowLONGr ~= 888) HowLONGr = QOCeolMedian.

if (PATDMr >= 555 and PATDMr ~= 888) PATDMr = QOCeolMedian.

if (LIFEr >= 555 and LIFEr ~= 888) LIFEr = QOCeolMedian.

if (ASKSPIRr >= 555 and ASKSPIRr ~= 888) ASKSPIRr = QOCeolMedian.

execute.

recode FEELr, DETAILsr, HowLONGr, PATDMr, LIFEr, ASKSPIRr (sysmis = 999)(888=0). 

missing values FEEL, DETAILs, HowLONG, PATDM, LIFE, ASKSPIR (555 thru 999) /

  FEELr, DETAILsr, HowLONGr, PATDMr, LIFEr, ASKSPIRr (999).

formats FEELr, DETAILsr, HowLONGr, PATDMr, LIFEr, ASKSPIRr (f10.5).

VARIABLE LABELS 


    WordsR  "QOC  MD using words patient understands, with 777,999 = respondent median for valid items and then 888 = 0"




/EyeR

"QOC   MD looking patient in eye, with 777,999 = respondent median for valid items and then 888 = 0"




/QuesR

  "QOC  MD answering all questions about illness, tx, with 777,999 = respondent median for valid items and then 888 = 0"




/ListenR
"QOC  MD listening, with 777,999 = respondent median for valid items and then 888 = 0"




/CareR

"QOC MD caring about patient as a person, with 777,999 = respondent median for valid items and then 888 = 0"




/AttentR
"QOC  MD giving full attention, with 777,999 = respondent median for valid items and then 888 = 0" 




/FeelR

" QOC MD talking about feelings about getting sicker, with 777,999 = respondent median for valid items and then 888 = 0"




/DetailsR    "QOC MD  talking about details about getting sicker, with 777,999 = respondent median for valid items and then 888 = 0"




/HowLongR

"QOC MD talking about length of life, with 777,999 = respondent median for valid items and then 888 = 0"




/PatDMR
"QOC MD involving patient in tx disucssions if too sick, with 777,999 = respondent median for valid items and then 888 = 0"




/LifeR

"QOC MD asking about important things in life, with 777,999 = respondent median for valid items and then 888 = 0"




/AskSpirR
"QOC MD asking about spiritual, religious beliefs, with 777,999 = respondent median for valid items and then 888 = 0".

VALUE labels   wordsR to AskSpirR 0 'not done or poorest possible rating'   10' best possible'.

COMPUTE QOCgen = mean.1 (wordsR, eyeR, quesR, listenR, careR, attentR).

COMPUTE  QOCeol = mean.1 (feelR, detailsR, howlongR, PatDMR, LifeR, AskspirR).

Recode QOCgen QOCeol (sysmis = 999).

missing values QOCgen QOCeol (999).

Variable labels  QOCgen 'QOC score, general communication' / QOCeol 'QOC score, specific eol communication'.

VALUE labels  QOCgen QOCeol  0 'very worst'  10' very best' 999 'not enough information to compute'.

formats QOCeol QOCgen (f10.5).

missing values wordsR, eyeR, quesR, listenR, careR, attentR, qocgen ().

execute.

if sysmis(QOCgenMedian) and QOCgen = 0 and (wordsR ~=0 or eyeR ~=0 or quesR ~=0 or listenR ~=0 or careR ~=0 or attentR ~=0) QOCgen=999.

execute.

missing values wordsR, eyeR, quesR, listenR, careR, attentR, qocgen (999).

missing values FEELr, DETAILsr, HowLONGr, PATDMr, LIFEr, ASKSPIRr, qoceol ().

execute.

if sysmis(QOCeolMedian) and QOCeol = 0 and (FEELr ~=0 or DETAILsr ~=0 or HowLONGr ~=0 or PATDMr ~=0 or LIFEr ~=0 or ASKSPIRr ~=0) QOCeol=999.

execute.

missing values FEELr, DETAILsr, HowLONGr, PATDMr, LIFEr, ASKSPIRr, qoceol (999).

execute.

list variables = words, eye, ques, listen, care, attent /cases = 20.

list variables = wordsR, eyeR, quesR, listenR, careR, attentR, QOCgen  /cases = 20.

list variables = feel, details, howlong, PatDM, Life, Askspir /cases = 20.

list variables = feelR, detailsR, howlongR, PatDMR, LifeR, AskspirR, QOCeol   /cases = 20.

missing values FEELr, DETAILsr, HowLONGr, PATDMr, LIFEr, ASKSPIRr ().

temporary.

select if sysmis(QOCeolMedian) and QOCeol = 0 and (FEELr ~=0 or DETAILsr ~=0 or HowLONGr ~=0 or PATDMr ~=0 or LIFEr ~=0 or ASKSPIRr ~=0).

list variables =  PID TID feel, details, howlong, PatDM, Life, Askspir QOCeol.

missing values FEELr, DETAILsr, HowLONGr, PATDMr, LIFEr, ASKSPIRr (999).

*frequencies variables = WordsR eyeR quesR listenR careR attentR QOCgen  

                       FeelR DetailsR HowLongR PatDMR lifeR AskspirR QOCeol

                       /statistics = all.

*COMPUTE QOCgen2 = median.1 (wordsR, eyeR, quesR, listenR, careR, attentR).

*COMPUTE  QOCeol2 = median.1 (feelR, detailsR, howlongR, PatDMR, LifeR, AskspirR).

*Recode QOCgen2 QOCeol2 (sysmis = 999).

*missing values QOCgen2 QOCeol2 (999).

*Variable labels  QOCgen2 'QOC score, general communication--median of items' / QOCeol 'QOC score, specific eol communication--median of items'.

*VALUE labels  QOCgen2 QOCeol2  0 'very worst'  10' very best' 999 'not enough information to compute'.

*formats QOCeol2 QOCgen2 (f10.5).

*frequencies variables = qocgen2 qoceol2.

*** EOF. 

